PRACTICE PAPER

Q1. ggais mfeTRaa ¥ & feheeht
U 82

(a) STICLA TSI T AT IFFET Tl
(b) ST SIferaTet o TTer STRIAH ferefar
(c) ST FfTee o |1 STIETV ferehfer
(d) T Sferaret et @rer q ferefar

Q2. | ¥ et aiw wewor ¥ f=feraa
o & T BT 82

(a) &5 (Vfeamaifesr) ddied it fawa
(b) THaTHT TefteT 3R forets

(c) TEEA Hfted 3R foter

(d) TweTst TfteT TR foa

Q3. ATATRUT & 3ieT &AfasT FeAT tawor
T ST HET TTAT 82

(a) ST (FrSFI)

(b) HETET (FeaiaT)

(c) STAINYT (TSETIA)

(d) AT (TgIF)

Q4. "9 Y foRarst WAt STaT 82
(a) a1

b) ™

(c) T

(d) SHe e

Q5. wmmee fefaRaa fra wror
ST 3T AT B2

(a) F S T TR 1 7@ Fhd &

(b) 3T 2T FHSR BT & S 9 o et
I T SATSHAY L Tehd &

(c) 3 T <t hter Iea=T i &

(d) 3 e e T Sea L &

Q6. 3ies yr=a feuft afcara e § v
Tt T AT H T aiEds mi?

(a) TR o1 firerer StTarft

(b) BRI I % S ST

OEIREEEER I

(d) Er-dt 7% fueret st

Q7. =t foig avomm w Frmferfea o &
FATEEATE ?
(a)WWﬁW%

(b) &I T FeTeh =T 0T THTH & STl &

(c) ITq T TN (FrSFeler) THTaeT STt
g

(d) =T H TeaTTeroT & ST &

Q8. e ot e frars wior
feafafaad o frasud gar e 2
(a) Th TE 6 THH

(b) T TH o M Tl

(c) U GEL o HHTTT

(d) 3T T S Tt

Q9. Tfe fRer 3 & wrer T I W F3T
IS ATCTh 73 ol AT H HYET FHUR Fiek av
g

(a) ST T fraft

(b) 35k ey firft

(c) 3Tk BTy ¥ fircfy

(d) 3T | & 1S T

Q10. Tt Y TECATHYUT &1 T eftsren
arferehas Bt & :

(a) YT

(b) Fereerer @ @

(c) gt H bz |

(d) I

Q11. aTgfeehet o ufew ¥ Tgw® IR TgTdt
g ITehT :

(a) ST AT

(b) AT

(c) T

(d) w=T

Q12. grawiR forad Rrgia v wm
HATE?

(a) T

(b) TN I

(c) S

(d) X

Q13. 31TehTyT et fewETs 2ar &, s ifen
(a) Tft T foretert et o1 g €

(b) & TehTeT | AT Sk Yol BT &

(c) ATIHST =T {11 shT A& et T
TR TehIU HLaT &

(d) 78 el frerr @

Q14. STe IS FETS T & AYS | TaI9r
HATE

(a) TE LTST-BT ST 33 WTdT &
OERISEIEICESIEIGIE

(c) T2 SE TR W a2

(d) T IS 55 T ST 2, 3ok 3TN W SH
33T & 1 <l ST @

Q15. UM FeAHM AT &1 Teel AT

AT A FEATER HUR Uk T 2| FAferfaa &
¥ T "fed g ?

(a) 9T ST I SIS dek SO

(b) TTHT SHHTH JATIH ST e ST

(c) T SIS FaTS T ST

(d) 378 9 1g ot Afereh g qeh STHehdT @

Q16. Y5 & et ol Tord TTeRAT FRT TG
frar ST EeRaT e 2

(a) ITTHST ZHT

(b) TSI FRT

(c) freemm g

(d) TSIt STTEE gRT

Q17. greer Tl ut ferera-gvarehrar a6t
AT FATEAT TEEAT AT € ©

(a) ST FeAeh BT

(b) BT TSt

(c) dFE Vel Ufee

(d) ST &t STE

Q18. AATATE AHAT™ €9 ¥ Th
e &

(a) Frestifet

(b) TS T

(c) et

(d) FTEIRT

Q19. FSvIT T <l GaTs | FeferRaa
o9 o T e g 2

(a) Tl ST FE

Okl

(c) ITIT

(d) ferer wfead ufeat

Q20. TwTE § YUT T JALATHA ATereh qut
(a) Tors, TR 3
(b) T (T0T) A Frelrs W R
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(c) oIS T AT T 2 2
(d) 0T 5 TS T TR St 37 3

Q2 1. WRdrE E@iFem 6 war H s o
¥ fora Taifires ek guTE BreT 2?2

(a) forfesr dfgem

(b) T TSI STHTHT 1 Hforer

(¢) TRV T Hiem

(d) Wi TR AfafTam, 1935

Q22. Th % Thed U i TETHAT AT 8 ?
(a) WereTsza

(b) Th wizeicd

(c) HHTETEZH

(d) fArerTSeH

Q23. Fafefaa o o fora aca o1 avaw
gidichT forepfa Homer & 2

(a) FART

(b) T

(c) ST

(d) SRS

Q24. TRt @187 & 'Tergwed! aa U
&t et @ s werwmar € 2

(a) T

(b) FeA

(c) s

(d) SFreTse

Q25. THT & .. T FUaid & &
forg g\ B e €

(a) TTCOTTTE

(b) fewarrdt

(c) JOT dA

(d) ST

Q26. fEw: e i faweai
GreIf-erd §E&AT J1d hifer:
371:150::468 : ?

(a) 247

(b) 357

(c) 246

(d) 345

Q27. Tgwr: 1 2oft § o s sa
FifeRr

6,10, 18, 34, ?
(a) 46
(b) 56
(c) 66
(d) 76

Q28. AGA, BH IR, C, AT &, D,
CH fUarer, B, DFHI T &, ABHF &
T Tt S S A I 22

(a) =T

DEEER]

(c) Wttt

(d) =&t

Q29. fadr : F=ferfaa wsii § ua wisg 3
IGh I =R AT e feu MU 8| 378 §
fow 7w 1o o STeAT | TR ST ST TRl 39
I1sg T J1d hifsg

80.EXAMINATION

(a) ANIMATION

(b) NATION

(c) MINT

(d) NOTION

Q30. feer: = few T e T
TraIfeed Tsg T hiferr

GhIHdl: Th:: 3LSTehdl:?

(a) forhR

(b) TSI

(c) ¥R

(d) 3TT=Thar

Q31. = few o foereat & & fomw v1sg 1
EREEIIED]

(a) ST

OERISE

(c) fier

(d) fam

Q32. = few T foereat & & forw v1s 1
EpCEqISD)
(a) ZXVT
(b) SQOM
(c) WUSP
(d) MKIG

Q33. e T T TSt 2 ST IHHT THH
SR fem 8 200 et A gl w21 S

TET T TSIl & 3T Tt Wbt Sfequr ufsym
feam & 200 et %t g w21 Mo ST
TSIt € A e gferor el feemm & 200 Hew
0t T Tl B T T 1 IS @ ST SEH
T AT femm H 200 HieT shi g o ) T
T AT ST o 7R oh foret fommr 7 feor 22
(a) SMeor e

(b) afeqor ufsm

(c) S

(d) SWE

Q34. = feu e foeredt & @ fowm e 1
=5 i

(a) 13221

(b) 19-27

(c) 15-23

(d) 16-24

Q35. foFHt e 9T H UNIVERSITY &
1273948756 feran STl @ ot 38 e wer
TRUSTY &1 fohg Y forem strem

(a) 542856

(b) 531856

(c) 541856

(d) 541956

Q36. frew: e feu e faspeai d &
TESI-EId AT J1d shifora:
6:18::4:?

(a) 10

(b) 8

(c) 6

(d) 4

Q37. e e 2oft & v e 3@
A

1, 16, 81, 256, 625, ?

(a) 1225

(b) 4163

(c) 2225

(d) 1296

Q38. I IHT WA 2, o Wi o af fa
eI fo B 2

(a) THAR

(b) SEER

ORUEELS

(d) e



Q39. 23 3w : <1 wee fRu e & 3 3
13T o ST&IT 3hT RN ek feferRad &
I T 3168 ST ST TRl 82
(A)Phrase(B) Elate

(a) Respect

(b) Pastry

(c) Asphalt

(d) Elevate

Q40. & = few e fasredi &
Hrefeerd Tsg T Shifsr

oo - wfafemar ¢ 22

(a) I :mgri%m

(b) TEH : ATET

(c) TcAiTE : g

(d) S :9Y

Q4 1. Directions : In these questions
choose the word opposite in meaning to

the word given in bold.

GENTLEMAN
clown

boor

dud

buffoon

Q42. Directions : In these questions, the
first and last sentence of the passage are
numbered (1) and (6). The rest of the
passage is split into four parts and named
P,Q,R,S . These four parts are not given
in proper order. Read the sentences and
find out which of the four combinations
is correct.

(1) We have pleasure

(P)a double room with bath
(Q)for five days from September 4 to
September 8,

(R)that we have reserved
(S)in informing you

(6) both days inclusive
RQPS

SRPQ

RPSQ

PQSR

Q43. Direction : The sentence are given
below with a blank . Fill the blank with an

appropriate word.

Will those of you who have objections to
this proposal put up your
hands please ?

discussed

being discussed

having discussed

discussing

Q44. Directions : In these questions
choose the word opposite in meaning to

the word given in bold.

MOURNFUL
playful
joyous
laughable

humorous

Q45. Directions : In these questions, the
first and last sentence of the passage are
numbered (1) and (6). The rest of the
passage is split into four parts and named
P,Q.R,S . These four parts are not given
in proper order. Read the sentences and
find out which of the four combinations

is correct.

(1). India's uniqueness lies in its unity in
diversity.

P.So the problems of India should, not be
viewed in isolation.

Q.Because of this factor, there are problems
here and there at times.

R.India is a multireligious, multicultural
and multilingual country.

S.But even small countries with monolithic
society have more problems.

(6). And India is poised for success in all
fields.

PSRQ

QSPR

SRQP

RQSP

Q46. Direction : The sentence are given
below with a blank . Fill the blank with an

appropriate word.

At one time Mr Nigel this
supermarket

was owing

used to own

had owned

owned

Q47. Directions : In these questions
choose the word opposite in meaning to

the word given in bold.

MYOPIC
short sighted
feeble minded
fore sighted
far sighted

Q48. Directions : In these questions, the
first and last sentence of the passage are
numbered (1) and (6). The rest of the
passage is split into four parts and named
P,Q.R,S . These four parts are not given
in proper order. Read the sentences and
find out which of the four combinations

is correct.

(1). In China there is no man in the moon.
P.They are exchanged between friends
while children receive toy pagodas made of
clay

Q.These cakes are circular to symbolise the
full moon.

R.Instead, there is a toad in the moon as
well as moon rabbits and a goddess.

S.All these appear as decorations on moon
cakes, baked to celebrate the moon’s
birthday in September.

(6). The birthday marks the end of the
harvest when debts are meant to be settled.
RQPS

RPQS

RSQP

RPSQ



Q49. Direction : The sentence are given
below with a blank . Fill the blank with an

appropriate word.

The little girl was knocked down by a
speeding car and she lost her
immediately

conscience

conscientious

conscious

consciousness

Q50. Directions : In these questions
choose the word opposite in meaning to

the word given in bold.

CONCISE
extended
lengthy
protracted

elongated

Q51. ®F-AT e TG THes T T 22
(a) WaTHT TS firsr

(b) FETETS

(c) Tt T T s

(d) Hifet <rery

Q52. ITSAANARTT & Terfrar &
(a) TYTIEETHT

(b) HETHRFT 3

(c) Tirar e

(d) Afem

Q53. 30 A ®iF-A1 et Tt forar 2
(a) TaaT=aST
(b) TS
(c) TeaTat
(d) dear=aet

Q54. FTSTT hY TATIAT FHd g2
(a)1565 3.

(b) 1568 §.

(c) 1569 5.

(d) 379 @ S Tt

Q55. ‘3 HS' & TRAT A &2
(a) THI5AT 3R

(b) TSI THES T=ATH

() Sferaerg Tesit

(d) T

Q56. TUT T 31T | AT ISTRUT TAT IAT
4

(a) AT

(b) 7

(c) M@

(d) 3718

Q57. grefires ¥ w¥ ToT fireror & forg
waiferer sugw fafer &

(a) T Tt T i

(b) TR

OMSEELE!

(d) e e

Q58. o vrez # farart witer 7t 22
(a) FTER

(b) TR

(c) &A™

(d) T

Q59. T& Ared R ges o1 uTed
Torer-areq =t Eeran ue SiteaT & qwe
|k, HEATd &

(a) T HTET

(b) e wa et

(OEERIRE!

(d) T aeft

Q60. 3rasr R gurHt fewet o wea st
U HETATAT S

(a) I HTA

(b) TTEH FTA

(c) HshTf= 1T

(d) STehe hiet

Q61. 1 7,3 Al o 4 sreet foret m
T 9GE H T T HHdl &, 2 T2 7R 8 TGk

T ST T 80 HS H I T FH @ AT 2 TE
AT 3 AT S T 120 H H I F Fhal

8,05 I8 qAT 12 S T e H & 90

T

430/11 59
469/11 =9
480/11 59
4499

Q62. e fiom =T TR Tk auer 2
HUAFS 2hl GHIATL STE 8 ST, T 14 .
& e 39 offer 1 3t § Tl 21 e frew
AT 1056 @Y.’ &, 7« fiom i S 3
w2

(a) 44 Tl

(b) 16.5 Tl
(c)12 Tt

(d) 10.56 Tt

Q63. I FIE ATh AT 3T HT 40%
IS W 20% HhTA TShTT 9T 31 T 70%
St eht f3TeT OR Gl ST © o SHehT 31
TeraT wfcreTa s

(2)6%

(b) 8%

(©)10%

(d)12%

Q64. S TH TRATHN 15, 20 AT 35 A 0T
e STar 2, 97 Iish oIR8 I ST R, 9%
ST HEAT TS 2

(a) 428

(b) 427

(c) 328

(d) 338

Q65. dMUETx, y, z FWIFRL | TFy, x
ST HTLRT ST TAT z, y T AL ST 2
3 T Refaat 7 afe wwr qe anfies o a9
BIATx, y, TUT 2 e o 8

(a) X = Xy
b)xyz=1
(©) X = yz
)y =z

Q66. =T % i 3T e forehr Bream |
oY, 6 oY, 3 8 Tt & =Rl fuereTTe U 3
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BT TIAT ST ST & 59 9 el bt B
J1a hife
()10.5 Tft

(b)9.5 THt
()10 |t

(d)9 |t

Q67. o et 8, yuw g, fida gen
1 I T @ T el ST, o T h
ofer Tt 21 Afe T St # i 57 2,
T T U GBI ATl T ST
SI'IT'TEh;(

9

18

126

135

Q68. fret p fiig &, O %% Il I9 T PA
TT PB &Y TqeitETd @i=ft St 21 afE OP 99
% I8 o S §, A1 ZAPB %1 0 <1y
(a) 45°

(b) 90°

(c) 30°

(d) 60°

Q69. Tt =R A i w1Eier A, B 3 C
ST 5/4:4/5:6/5 % STTATA § USA T 3
TEH W A T TGS H 50% i F A
afe Y o 3 | Tt 35700 T AT gIAT AN
3EH H A T fewmr @ o

(A) % 12,000

(b) ¥ 16,500

(c) % 13,000

(d) % 15,600

Q70. T qT TH fietet e %L 8T 10
Tl o 6T o o Wk 21 TS ket 12 foAT o
I I S EHT 8, T T 3Tohet foha fott o
T U FHTT ?
20 fe

40 fem

50 e

60 T

Q71. forelt wwag Fivet sTmam aet firsw 1
STTET 3T &% 173 FefeT & qen fism &t
JIAT10380 cm” & Trew 1 ferdieh I8 &t
BINETS

(a) 1200 T’

(b)2400 T’
(¢)3600 THT

(d) 4380 Tl

Q72. <Ishardl ST & IS eFTMRT 15 a9
e sh AN BT STl @ Al J ST ol ST H
fore et & o ge i 8 T & st

(a) 30 o9

(b) 45 T

(c) 21 a9

(d) 60 I

Q73. 3 AT % Ho o T o Ho THHT:
18 T 378 &, Afe Uk e 54 €, 1 g6t
(a) 126

(b) 144

(c) 198

(d) 238

Q74. < SR T HUIT: 7% 3 5% h
TN ST U IR &1 72| ST 3R0T OT ATt
ST 4 9 H % 960 TS 21 I A TE FoA
Tf3r sy

(2) & 3500
(b) %. 2500
(c) & 2000
(d) %. 3000

Q75. 2 Tft F3=am 91et Ueh TMiet <l Uk S
e Tt s @ e foraeht s1mem e 4
Qe @ T gerran St @ At e gt o | ot
H ge SR |l Sfet U 261 T foheT 33
SR

(a)1/3 Y

(b)1/2 Tt

(c)2/3 Tt

(d)2 Tl

Q76. Tt afar & 8 =2 91 73 Fohai
B =rmaret & ufer are e safth @ua 10.8kg 2
STerfer =aret 3t @ 15kgMfd % T 6kg
fer foret 8| TRt < T Jra L2

8

6
7
9

Q77. AABC % AB @ ACW Al foig D
TATE 39 TR 2T AD
=1/4AB,AE=1/4AC If¢ BC=12cm & qs
DE®

(a) 5 T

(b) 4 TfieT

(c) 3 TiHiex

(d) 6 T

Q78. ws fuzor 4 feafie STk STt 1 37T
32 31 afe som Rafe 5T & 3 oftet ferek 21
ar forsror 3 fegfe Y wrm 3 R

(a) 10 ST

(b) 12 TX

(c) 8 TeT

(d) 9 wteT

Q79. Ffe 30 et o # wrft 37 gur 1
AT 3:7 €, A1 Foherr reft 3 e e =y
701 AR I T ST 3.7 B S0

40 wteT

49 &fteT

56 tex

63 et

Q80. forHt firsH 1 HATER 8cm TSI AT
GuaTg Bryst 7o Feg 10em 21 fsw
ST J1d L2

(a) 320 \3 cubic Tt

(b) 1603 cubic Tt

() 150 \3 cubic &t

(d) 300 V3 cubic Tt



Q81. faer & Ry Arerer faufmmem &
T v <At e ooy wu & & St
off ? AT YITET it Axa=e foh et & o
2

(a) g

(b) SH

() &g

(d) Hitem

Q82. Arerat fagfoener™ ara w1 adds
dteg, Frer & foro iR ot 2 Jrerer fea
T o fer o 2

(a) TET TSI

(b) ST &I

(c) TSTEIT=

(d) forer

Q83. Arcrar fagfereer Y TermuET
Tore STeT W g3 off 2

(a) TIHIA T

(b) AETHA T

(c) THHT |

(d) T A H

Q84. fora ymEs & TITEl & TreieT
Foraferarerar <hr worromT g9 oft 2

(a) HHR T SH

(b) T

(c)gﬁaﬁq

(d) fofEsram

Q85. ferer &t AT I ATAT oy AT
HIT AT ?

(a) BT

(b) TS

(c) BrE

(d) 3fewm

Q86. = o & wiw-ar IEh fogr ey
FTAT B HH T TAAGA T ?

(a) sfcam

(b) HTRIH

(c) TTES

(d) =T

Q87. =it amf "gfearr X fer &t am
Torer vraTsdt & < oft 2

(a) B3 FATsG

(ORIEEIRIGIEH]

(c) HTad SraTsat

(d) Tt STaTea

Q88. =t amft g@i ¥ ferees ymam
T W EFqUT fergw sht AT i off ?

(a) TR

(b) Taftsmm

OREES

(d) =F=TH

Q89. faegr # Rua Arer=r fagfame
wh arferes weR R frerdt & 2

(a) AT % foeror &

(b) BRI o F T 3 foremor &

(c) =suTeA o foraor &

(d) 3T T HiE T

Q90. fuEw ¥ gtk wwETe,
ATET=aT ShT TATYAT el <hT TS off 2
(@) 1916%. 9

(b) 19198

(c) 1917%. 9

(d) 1918 5.

Q9 1. JETTelt H YUrATTcaTeh HURTAT hi
TATOAT el g5 ot 2

(a) 1940 3.9

(b) 193239

(c) 1945%. %

(d) 1967 3.0

Q92. HTeTAT § YUrATcaeh HURTTT et
FATOAT el T3 ot ?

(a) 1955 3.0

(b) 1956 %. &

(c) 1953%. 0

(d) 19543. %

Q93. fuEr U=T i Tvl 4T,
ST <Y TATIAT el g3 oft 2

(a) 1959°%.

(b) 1960 5.

(c) 1957 %

(d) 1958 %.

Q94. fagR ¥ "I TIrETer" i FATIAT
FHa S oft ?
(a) 19693,
(b) 1971%.
(c) 1972%.
(d) 1970 3.

Q95. faer U=g ¥ "JaTET WUETAT" Y
TATYAT el hY T off 2

(a) 1974 %.

(b) 1977%.

(c) 1976 3.

(d) 1975%.

Q96. farEr# "ueaT HuETeE" Y
TorToT foet ond g9 oft 2

(a) 1910%. 0

(b) 191257

(c) 19158. 0

(d) 1911 8.8

Q97. uftrg e weft fir ufewr =1
ey fora foer & fre dmeem @ 2 2
(a) TSITET TIETT &

(b) TR TR &

() UAT HIRTAT &

(d) T HIRTT |

Q98. frgr # g I amHfd wal & T
geeft?

(a) ST (T

(b) AT T

(c) GEAT (ATTEYR) &

(d) SEFETH

Q99. "ofet FRrErdiefi & 109 foryr faew
T o Torr Threrera 4 gefea 2 2

(a) TS HURTTH, ATET

(b) YUTicaTeh W et

(c) AT ORI, T

(d) TeT HURTSH, 9eAT
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Q100. fogrhr "<rRar it fomm Sreft
T T Tersrent oft ?

(a) HegHT HfeT

(b) W AT

(c) HoeT et

(d) 3T T =1E T
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